Analysis and chromatic sequence
Liederkreis, Op.39,7 Auf einer Burg (In the castle) Robert Schumann

Joseph von Eichendorff

I. Analyze chords, modulations and significant cadences in this song, and answer the questions on p. 2 (60%)
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Translation:
Asleep on his watch, Outside it's quiet and peaceful,
up there is the old knight Everyone's gone to the valley,

rainshowers fall above,

Woodbirds sing alone

And the forest rustles through the grate  In the empty, arching windows

Beard and hair overgrown
Chest and ruff turned to stone,
He sits for hundreds of years,
Up there in his silent refuge.

1. How would you describe the form of "In der Burg" ?

A wedding passes below

On the Rhine, in the sunshine,
Musicians play jauntily

And the lovely bride weeps.

2. How might you explain the ambiguous beginning and end of the song?

3. List the mm. nos. where Schumann harmonizes a rising scale in the bass

What role does this sequence play in the form?
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